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1. RXoXZ2REDFETX. (SHK20/, Afk40F, Bi195 108, C#k24)

(1) 224+ 2y +1y2—1 (2) a? - —-2b—1

2. RXOAXZENESBE X, (SHA0F, Af145r, B#24, C#33208)

(1) 2% —doy + 492 — 22 (2)  a®>—-b*>+8b—16

(3) a’?—b>—2a+1 (4) 2?2 —y? — 2% —2yz
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3. ROXEREIHE L. (S22, Af40®, BE13 108, C#27)

(1) 2?2 +4doy+4y> -4 (2)  a?>-b2+2b—-1

4. ROXZEREPIEE L. (S50, A1 158, B#273208, C#340% )

(1) 22 —2zy+y? — 422 (2)  9a% —b% —2bc — c?

(3) a? — b% + c? — 2ac (4) 2% —4y? — 22+ dyz

© Bt - 2R L7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

1.

2.

RETAN XFIX EHIEH

* 2% — 2% OEES.

4DMEZ 3E 1 IEICH T B

ROAXZHEBHE L. (SH20M, A#k40%, Bik15108, CH24)

01

Bl a®> —b* +4a+4=a*>+4a+4-b0*=(a+22-b?=(a+2+b)(a+2—-b)=(a+b+2)(a—b+2)
* ADER XFAOLZEAT % A LB LIk THESRERA T 5.

(1) 2?2+2zy+9y%2-1

= (z+y)*—1°

=A2-12 <k A=z+y LBV
= (A+1)(A-1)

={lz+y) +1}{(z+y) -1}
=@+y+)(zr+y—1)

(2 a®-b*-2b-1

=a?— (b*+2b+1)

=a?— (b+1)?

=a?> - A2 <k A=b+1¢tB0VX
=(a+ A)(a—A)

={a+ b+ D}{a—(b+1)}
=(a+b+1)(a—b—-1)

ROXZ N fRE X, (SHA40F, Af14y, B2, CH34520% )

(1) 2% — day + 4y% — 22

= (z—2y)* - 2°
=(x—2y+2)(z—2y —2)

3) a2 —b%—-2a+1

=a?—2a+1-0b2
=(a—1)2 -5
=(a—1+b)(a—1-0)
=(a+b—-1)(a—b—-1)
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(2)  a*>—1>+8b—16

= a2 — (b® — 8b + 16)
=a? — (b—4)?
fa+(0-4)Ha—-(b-4)}
=(a+b—4)(a—b+4)

(4) 2?2 —9y?—22 -2z

2

=22 —y? —2yz —2
=a? — (y* +2y2 + 2°)
=1 — (y+2)°
={z+W+2)He - (y+2)}
=@+ty+2)(z—y—2)
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3. ROXEREOME L. (SHh20, AfKk40F, Bik173 108, C#H25)

(1) 2?2 +4doy+4y> -4 (2)  a?>-b2+2b—-1
= (x + 2y)? — 22 =a?—(b*—2b+1)
=A%2-22 <k A=z+2y LBV =a?— (b—1)?
— (A+2)(A—2) 2 A2 ek A—b-1 LB
(e 2) 2} (e +2) - 2) — (a4 A)a - A)
(24 2y +2) (@ + 2y — 2) —{at (-} a— (b 1)}

=(a+b—-1)(a—b+1)

4. RXROXEZHEAEE L. (S50, AfR17 158, Bik27320%, C#H3540% )

(1) 2% — 2zy +y? — 422 (2) 9a% — b% — 2bc — 2
= (z—y)* - (22) = (3a)? — (b + 2bc + ?)
=(z—y+22)(r—y—22) = (3a)2 — (b+c)?

={3a+ (b+c)}{3a— (b+ )}
=Ba+b+c)(3a—b—rc)

(3) a? — b% + c? — 2ac (4) 2% —4y? — 22+ dyz
=a? —2ac+c? - b? =22 — 4y + dyz — 22
=(a—c)?—b? =22 — (4y® — dyz + 2?)
=(a—c+b)(a—c—0b) =122 — (2y — 2)?
=(a+b-c)(a—-b—-c) ={o+Qy-2)He -2y -2)}

=(x+ 2y — 2)(x — 2y + 2)
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